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mars24:[57]: java Matrix
java.lang.ArrayIndexOutOfBoundsException: 3

at Matrix.time(Compiled Code)

at Matrix.main(Compiled Code)
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Z[i1[j1=X[i1 [1]*Y[11[j1+X[1i] [2]*Y[2] [31+X[i]1[3]1=Y[3]1[]1;
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public class matrix {
public static void main (String[] args) {
double[][] A,B,C;
A = new double[][] { {1,2,3}, {4,5,6}, {7,8,9} };

B = new double[]1[] { {1,4,7}, {2,5,8}, {3,6,9} };

printMatrix(product(A,B));

public static double[][] product (double[][] X, double[]1[] Y) {
double[][] Z = new double[3][3];

for (int i=0; i<3; i++) {
for (int j=0; j<3; j++) {
double tmp = 0.0;
for (int k=0; k<3; k++) {
tmp = tmp +X[i] [k1*Y[kI[j1; //% (i,3) RO ZFHE
}
Z[i]1[j] = tmp;

return Z;

public static void printMatrix (double[][] X) {
for (int i=0; i< X.length;i++) {
for (int j=0;j<X[i].length;j++) {
System.out.print (X[i] [j1+ " ");

}
System.out.println("");

Z74J)l 1.1: matrix.java




public class coin3 {
public static int numOfheads (int N) { // numOfheads XY v K DEH
int head = 0; /] BROMBEHE Iz DEE

for (int i=0; i<N; i++) { // LAT% N [E#D KT
if (Math.random() <= 1/2.0) { // HLLEBNITEDL

head ++; // head IZ 1 27T
}
} // for XD#EbY
return head; // head %iX7
} // numOfheads A v K DEZRKY

public static void printGraph (int n) { //printGraph XY v K

for (int i=0; i<n;i++) {
System.out.print ("*");

}

System.out.println("");

public static void main (String[] args) { // main XY v FDEHE

int frequencyl[];

frequency = new int[101];

for (int k=0; k<500; k++) { // BAF% 500 [HI#k VK9
int heads = numOfheads(100); // &LEEREIHT
frequency [heads]++; /] EDERET T

}

for (int i=0; i<101; i++) { [/l EANT T LEESL,
printGraph(frequency[il);

}

} // main AY v R OERKEY

}// coin3 7 7 AD#KIHY

27A4J)L 2.1: coin3. java




import java.io.x;
public class dict {

public static void main(String[] args) {
BufferedReader reader =

new BufferedReader (new InputStreamReader (System.in),1);

String tango[]1[] = { {"document", "3(FE"}, {"bird", "&"},
{"human“, "Aﬁ?ﬁ"}, {"face", n%n},
{"array" , "EE?U"}, {"water" s ||7kn}’

{"good", "R} };
int N = 6; // HFEL
try {
String line = reader.readLine(); // FEHFEE FEHIAI
// line ZEIZRAT 5,
boolean found = false; /% HFED RADMUL true 1253
EE =/
int i=0; /! BIIDEF. BT 0 25
while (!found && i < N) { /x EAEEN RAIND0, DUV,
BlFIDEBICEET HET
DT ZEMYIRT, */
if (line.equals(tango[i]1[0]1)) { // L RADIUL
System.out.println(tango[il [1]); // XI&F D FaR%E H )
found = true; // found % true (275
}
i++; /] WEE—DORELTH
} // while D&Y
if (!found) { /] RSl b
System.out.println ("% 2 BRI RN Y FEATLZ, ");
}

} catch (IOException e) {// try D&V,
System.out.println(e);
} catch (NumberFormatException e) {

System.out.println("ANNRIEL < HV A, ");

} // main AY vy RD#KY

} // dict 7 T ADKY

27A4J 3.1: dict.java




import java.io.x;
public class dict2 {

public static void main(String[] args) {
BufferedReader reader =

new BufferedReader (new InputStreamReader (System.in),1);

String tango[][] = { {"document", "3X&E"}, {"bird", "5"},
{"human", " A"}, {"face", "EH"},
{"array", "E"}, {"water", "JK"},
{"good", "Ru "} };

int N = 6; // HEE%

if (args.length != 1) {
System.out.println (" /7 : java dict2 HFE");
System.exit(0);

}
String line = args[0]; /] AR I DTN %
// line EFIZRAT 5,
boolean found = false; /% HFED BADMUL true 1253
I/
int i=0; /! BIIDEF, BT 0 25
while (!found &%& i < N) { [x BEER RAMNDH . HDHWIE.

BHNDERRIZEESTDHET
TRy, «/

if (line.equals(tango[i][0])) { // b L RADIUT
System.out.println(tango[il[1]); // Xtiad HFaR%E H A
found = true; // found % true 27 %
}
i+t /] WFE—DORELLTD
X // while D#&Y
if (!found) { /] BAMSRhotz b,

System. out .println("%z%?“é HEI RN ERATLE, );

} // main AV vy RD#KY

} // dict 7 T ADHKY

F7A4AI 3.2: dict2. java




if (line.equals(tango[i][0])) {

// b L RAMAIT

System.out.println(tango[il[1]); // XH&$ D aR%E HF)

found = true;

if (line.equals(tango[i]l[1])) {

// found % true (275

/7 b L RAMADIT

System.out.println(tango[i]l [0]); // XH&§ DFaR%Z HF)

found = true;

}
ZHNTRW, (0 & 1 ZANMRTIZET, )

// found % true 275



